
EXERCICES MATHS CM2 – Les longueurs – Correction.    Toupty.com

Fiche n° 923

26 km = 260000 dm

53 m = 53000 mm

73 km = 73000000 mm

1 km = 100000 cm

91 m = 91000 mm

67 km = 67000000 mm

3 km = 300000 cm

24 km = 240000 dm

80 m = 8000 cm

27 dam = 27000 cm

110000 dm = 1100 dam

80000 m = 8000 dam

20000000 dm = 2000 km

95000000 mm = 95 km

910000 mm = 91 dam

710000 dm = 7100 dam

480000 m = 48000 dam

8000000 cm = 800 hm

420000 cm = 420 dam

30000000 m = 30000 km

28 hm  et 70 mm = 2800070 mm

79 dam  et 28 cm = 79028 cm

10 dam  et 59 mm = 100059 mm

38 hm  et 40 mm = 3800040 mm

43 m  et 68 mm = 43068 mm

48 m  et 87 dm = 567 dm

60 m  et 78 dm = 678 dm

9 km  et 64 cm = 900064 cm

89 m  et 52 cm = 8952 cm

4 dam  et 97 dm = 497 dm

Recopie et convertis dans l'unité :

Même exercice :

Recopie et convertis dans l'unité :
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